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estion 2 / 10

P L .

| F A, B and C attached to each other and have equal masilﬁm.-ﬁ'r‘f'l I

&

jects are pulled vertically upward with force F=3 N. The acceleration (in m's e

.
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In the figure shovwn il the angle between the celeration (a= § 4o < ) and the radins (B=34

) = (B o0 ) Fmd the speed (inm sy of the particle shown.
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Question 8 / 10

A block is pushed across a horizontal surface hy the force shown. If the coefficient
friction between the block and the surl‘ace is 0.10, F = 20 N,8, = 30°, amlM’ &ﬁ 1

magnitude of the acceleration (in mfs ) of the block is: (Use g=98 mfl’z)
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Cuestion ¥ 10
For the conical pendulum shown if m=80 kg, 6=40° and its lengthis 10 m. The speed (in

=

m's) of mis: (Use g=95m g ) |
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